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BO-11
Plant Ecosystem and Economic Botany

Time : 3 Hours Maximum Marks : 30

Note : This paper is of thirty (30) marks divided into three (03)
sections A, B, and C. Attempt the questions contained in
these sections according to the detailed instructions given
therein.

AT : T WIA-UF A (30) 3fehl T & S <14 (03) WU &, &
qer T U faurfaa 81 udes wue o fou g fawga et
% AN € YT R T HCA B
Section - A / @US-h
(Long Answer Type Questions)/( S 3T aTel Wy )
Note : Section 'A' contains four (04) long-answer-type questions
of seven and half (7'2) marks each. Learners are required
to answer any two (02) questions only.
(2x72=15)
Ae : @UE ‘& W AR (04) G IR AT Uy A M0 E, uAw
w9 & T | /i (7Y%) 3k Faifa & 1 forenfyd=n =
TTH W haeT & U9 S STR AT ¢ |
1. What is population ? Explain characteristics of population in
detail ?

HHfte 1 27 G & Aol ol faer 9 sare st

2. Define Biogeochemical cycles. Discuss Nitrogen cycle in
detail with diagram.

374/15/170 | PTO



-9 TEEfeR Tk hl IR w2 TS AIgeieA Toh
qfas Fared|

3. Describe in detail botanical description, chemical constitutend
and uses of Garlic and Spinach.
ey Ud Ueleh 1 aMfdeh foerur w@rfie 9@1ed g
ST i faER H aar|

4. What are medicinal plants ? Explain any two medicinal plants
with their origin, distribution botanical characters and uses.
e oy F@ T2 FE oft I simm wRw w sy,
foreor, arEafae &0 T ITEN &I fowar o Saed

Section - B / @UsS-@
(Short Answer Type Questions) ( g I a1 q9q)

Note : Section 'B' contains eight (08) short-answer-type
questions of two and half (2/2) marks each. Learners are
required to answer any four (04) questions only.

(4x22=10)

T : @Ug ‘@' ¥ IS (08) 7Y ST arel Wy T M &, weden
9T & o o8 (2Y) i Fraifa & 1 foranffat o g
H hdel = (04) U9 & ST ST § |

1. Discuss Raunkiaer's Plant classification.
IR AT KT SR FHAH|

2. Write a briefnote on Ecotypes.
el geT W T diga feoof fafed

3. What is succession ? Differentiate between primary and
secondary succession.

IHAT 1 7?2 WfHw s fgdiasw orgsHer H e
BEEIER]

4. Giveabriefaccount of vegetation of India.
ARG 1 aFeafa W i feooft fafer

5. What is Ecological Pyramid. Discuss it in brief ?

ikferfashia T @1 €7 gfaa ® s
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Note :

Give botanical names of any 5 main sources of fire wood.
T S F HE A UG YW A F IHEae AW
ERIER]
Explain origin, distribution and uses of Turmeric.
T 1 SAfd, TIaRor T ISTERT &1 9uiH Hifaq)
Describe the processing of Tea.
I % T H fowr ¥ sy
Section - C / @US-T
(Objective Type Questions) / ( TS I )
Section 'C' contains ten (10) objective-type questions of

half (2) mark each. All the questions of this section are
compulsory. (10x24=05)

: @ug U’ H T (10) TGS uve fed ¥, ueR ueA

@ fom amen (%) ot fauifa € 1 3@ @oe & Wit oo
arfemd &

Concept of Postitive and Negative introductions of organisms
was given by :

(@ Odum (b) Schimper

(c) Mishra (d) Blackman

Sial 1 ¥AITR TE RUMHeR foRAisTl Wi stEERen &
of .

(1) e A (3) o 3

(w) faszn = (2) =ihed A
Short Day Plant is :

(a) Silvia (b) Gossipium
(¢) Sorghum (d) Nicotiana
AU JTRI e § -

(1) Hfemen (=) Tirehfiram
(W) H|ReH (3) fraifes
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3. In which form plants takes nitrogen from the soil :

(a) Nitrate (b) Ammonium Ions
(c) Nitrous (d aandb
IRY G W AgeieH fRE 9 H 9 e B-
(31) e () emifEE T
(|) g™ (7)) A Td 4

4. Pyramind of Energy is always :
(a) Invented (b) Upright

(¢) Inverted & Upright (d) Allofthese
Foll T WU TI BT § -
(31) 3 (&) e
(9) 3w Td Hie (%) weft
5. With the rise in sea level the atmospheric pressure :

(a) Increase (b) Decrease
(c) Equal (d) None ofthe above
T 7 9 SO 961 & WU-9iY aguuSe gard 8l
S -
(31) S (9) =H
(|) =R (3) W H ¥ &E T
Indicate whether the following are True or False :
6. Tillering is not found in sugarcane plant.
T % URY H qelened A& qE S gl
7. Spinach belongs to Fabaceae Family.
Tk head el W 2
8. Santalum album is partial root parasite.
GTTH Tead SAfeTeh Jo Weiel 21
9. Plant frequency is a Qualitative Character.
Y G TH TOMHS A0
10.  Indian institute ofugarcane research is situated in Lucknow.
T S W e § e 2l
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